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Read the following text carefully, and then in your ANSWER BOOKLET answer all the 
questions that follow it. Your answer should be based on the text. 

The Eden Project, which opened in the year 2000, is a living plant museum in the 
countryside in the south-west of England. It is a very popular attraction and millions of visitors 
come every year to see plants from all over the world growing in this special environment. 

Some plants grow outside, but many are in specially-built domes, called ‘biomes’, 
where the temperature and humidity are carefully controlled. The biomes are like giant 
greenhouses and one, the Humid Tropics biome, is the largest greenhouse in the world. It is over 
55m high and 200m long and contains many thousands of exotic plants not found in England. 

One of the purposes of the project is to show how dependent human beings are on 
plants and to educate people on the importance of preserving our natural environment. Aside 
from the plant life, the Eden Project has fascinating interactive exhibits for people of all ages. 
Many of the visitors are groups of school children. The Eden Project combines educational 
value with scientific interest and a huge variety of spectacular plant life. 

Question Number One ( 20 points) 
A. 

1- There are two qualities which make the Humid Tropics Biome the greatest greenhouse in the 
world. Write down them.                                                                     (4 points) 
2- The Eden Project has two advantages. Write down them.                    (4 points) 
3- Quote the sentence which indicates that the largest number of visitors of Eden Project are 
students.                                                                                                      (3 points) 
4- What does the underlined world "exhibits" mean?                               (2 points) 
5- What does the underlined world "it" in the first paragraph , refer to?  (2 points) 
6- According to the text, the writer thinks that certain outdoor plants can be grown indoor if 
supplied with suitable conditions. Suggest three of these conditions.    (3 points)   
B- Critical Thinking:-  
The Eden Project increases the local economy of England. Think of this statement, and in two 
sentences, write down your point of view. 
                                                                                                                                (4 points) 

Answers:- 1- It is over 55m high and 200m long and contains many thousands of exotic 
plants not found in England. 2- to show how dependent human beings are on plants and to 
educate people on the importance of preserving our natural environment. 3- Many of the visitors 
are groups of school children. 4- show, display 5- The Humid Tropics Biome 6- temperature, 
humidity, soil, sunlight, water.  

B- I think that the visitors come from all over the world and pay for tickets. Also, they 
will stay in hotels and have meals in restaurants. In addition, they shop in markets of England. 
All these activities increase the economy of England. 
 

  
SEE PAGE TWO… 

 مطولالالنموذج  
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Question Number Two (15 points)      
A. Choose the suitable item from those given to complete each of the following sentences and 
write it down in your answer booklet.                                                       (8 points) 

overcharged, reused, structure,  soil , temporary, protect , climate     
1- Most of Africa has a very hot, dry………………….. 
2- Some plants grow well here even though the ………………….. is poor and it hardly ever rains. 
3- Ali doesn’t want a………………….. job – he wants a serious career as an engineer. 
4- We must do something about climate change to………………….. our way of life. 
5- We thought the restaurant bill was too high. We were right – the waiter had  
………………….. us. 
6- I’m not going to throw my mobile phone away. I’m going to send it to another country 
where it can be ………………….. 
7- The word …………… means building.  
Answers:- 1- climate 2- soil 3-  temporary 4- protect  
5-overcharged   6- reused 7- structure 

undercooked ,tiny, protect, waterfall, globe  
 
1- The word ………….. means a flow of water from a river or stream falling from height. 
2- The word that means the whole world or Earth is …………….. 
3- The word ……………. means to stop harm or damage thing or someone. 
4- The appropriate opposite word of …………….is the word huge. 
  

B. Study the following sentence and answer the question that follows, then write the   answer in 
your ANSWER BOOKLET.                                                             (3 point) 
1- When he started criticizing my work, I really saw red. 
What does the underlined colour idiom saw red mean? 
2- Although the old man was rich, he was very mean. 
What does the underlined word mean mean? 
3- Scientists have just come up with a new way of reprocessing plastic . 
What does the underlined three – part phrasal verb come up with mean? 
4- I spilt tea on my homework, so I had to rewrite it. 
-what does the underlined prefix (re) mean in the sentence? 
5- I misheard you. I thought you said we’d meet at 9 o’clock. 
-what does the underlined prefix (mis) mean in the sentence? 
6- The shop assistant must have overcharged you. 
-what does the underlined prefix (mis) mean in the sentence? 
7- The potatoes are too hard to eat. We obviously undercooked them. 
-what does the underlined prefix (under) mean in the sentence? 
Answers:- 1- got very angry 2- not generous 3-found, discovered,   
4=   (re = again مرة اخرى)  5= (mis = wrongly or badlyبشكل سيء او خاطيء) 
6- over = more  7- under = less 
Rewrite the underlined numbers in these sentences as phrases. 
1- There are 25 students in my class. 
2- The school was opened in 1975. 
3- The address of the school is 17, 10th Avenue 
4-There are about 1,750 students in my school.  
Answers:- 1- twenty-five students 2- nineteen seventy-five 3- seventeen the Tenth 
Avenue 4- one thousand , seven hundred and fifty 5-  
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Rewrite the underlined phrases in these sentences as numbers. 
1-  My brother was born in two thousand and four.  
2- I scored seventy-six percent in my English exam.  
3- There were two world wars in the twentieth century.  
4- The population of Egypt is about seventy-five million.  
5- There are a hundred centimes in one Algerian dinar.  
Answers:- 1-2004 2-76% 3- 20th century 4-75.000.000 5-100 
 
C. Complete the following sentences with the suitable words derived form the words in 
brackets and write the answers down in your ANSWER BOOKLET. (4 points) 
1. Because there was no clean water , ......................spread very quickly through the population .  
( infect ) 
2. Some trees are protected by ants which live ....................on their branches. ( permanent ) 
3. The people left their city because of ………………. activity (volcano) 
4. Many people believe that …………… is one of the worst crimes. (violent) 
5. The patient 's surgical operation was …………………done . (successful) 
6-. Some human activities are ………………..the natural world. (destruction) 
7. The ………………..success of the 1960s and 1970s was funded by oil.( economize) 
8- Person is……………….. until someone proves that they are guilty. (innocence) 
9- Many people emigrated to the Arabian Gulf after its .............success. economize 
10- The man was found………………..of any crimes.    (innocence) 
11.  Some countries faces serious ………………..problems.    (economically)  
12. An earthquake is considered a natural ……………….. (disastrous)  
13.  We must ………………..the natural resources of our country.      (development) 
14- There would be a chaotic situation in society if there no ………..system     (law) 
15-The court left a man free because he had proved that he was …………….. (innocence) 
Answers:- 1- infections 2- permanently 3- volcanic 4- violence 5- successfully 6- destroying 7- 
economic 8- innocent 9- economic 10- innocent 11- economic 12- disaster 13- develop. 14- legal 
15- innocent  
 
Question Number Three (20 points) 

A. Correct the verb between brackets then write your answers down in your ANSWER 
BOOKLET.                                                                          (6 points) 

1. What have your friends and members of your family .............recently? (be , do) 
2. We .............mere players last year; but now have become more organized. (be) 
3. I've never.............getting a driving test. (try) 
4. The streets are very dirty. I wish they .............dirty.   ( not be) 
5. She .............her relatives once before she moved in with them in 2006. (visit) 
Answers:- 1- been doing 2- were 3- tried 4- weren’t 5- had visited  
********************* 

  -:جمل اضافیة
1- Every country ……………..its own code of law over hundreds or thousands of years. 
(develop) 
2- They …………….. the law – they should be punished. (break) 
3- He………..just ……………of the sea. He’s been swimming with his friends.( come out) 
4- They ……. just ….. a family meal. They've been celebrating Zaid's graduation. (have) 
5- She ……. just ………... She has been buying food for her family. (be, shop) 
6- He has just come off the football pitch. He has …………….. football. (be, play) 
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7- She has just come out of the library. She has…………….. research for a school project.(be 
do) 
8- They have just finished work. They have …………. since 8 o'clock this morning. (be, work) 
9-The paramedic has been helping the man. He’s ………..on the pavement for a few 
minutes.(be, sit) 
10-  ………… you ever ……… to play a musical instrument? ( learn) 
11- ……….. you …….. a holiday yet this year? Yes, we’ve just come back from Aqaba. (have) 
12-  I’ve started learning the mizmar, but I’ve only …………… for a few weeks. (be,play) 
13-  James was very nervous when he arrived at the airport because He…… never …… 
before.(fly) 
14-  Eman didn’t feel very confident about taking her driving test because she ………..  twice. 
(fail) 
15-  Faisal found it difficult to get up this morning because he………. late the night before. 
(work) 
16-  Zaid couldn’t contact his brother, Rakan because he………….. phone off. (switch) 
Answers:- 1- has developed 2- have broken 3- has come out 4- have had 5- has been shopping 
6- been playing 7- been doing 8- been working 9- been sitting 10 have learnt 11- have had 12- 
been playing 13- had flown 14- had failed 15- had worked 16- had switched 
 
B. Combine each pair of sentences bellow into one meaningful sentence, using the suitable 
given words and phrases from the box below, and write it down in your ANSWER 
BOOKLET.                                                                                        (6 points) 
 
1- I went to the post office. I want to buy stamps.  

( because) (so that) (in order to, to , so as to) 
I went to the post office because I want to buy stamps.  
I went to the post office so that I could buy stamps. 
I went to the post office in order to buy stamps. 
I went to the post office to buy stamps. 
I went to the post office so as to buy stamps. 
 
2- Sultan went to the airport. He had to meet his brother Khaled.  

( because, so that, in order to) 
Sultan went to the airport because he wanted to meet his brother Khaled. 
Sultan went to the airport to meet   his brother Khaled. 
Sultan went to the airport in order to meet his brother Khaled. 
Sultan went to the airport so that he could meet his brother Khaled. 
 
3-People write things in their diaries . People don’t want to forget important things.  

( because, so that, in order not to) 
-People write things in their diaries because they don’t want to forget important things.  
-People write things in their diaries in order not to forget important things.  
-People write things in their diaries so that they can't forget/ don’t forget important things. 
  
4- Scientists are trying to produce new fuels. People can continue to use their cars 
without damaging the environment. ( so that) 
- Scientists are trying to produce new fuels so that People can continue to use their cars 
without damaging the environment. 
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Question Number FOUR (8 points) 
A. Write sentences which explain the possibilities of the following situations using the 
suitable modal verbs from the box. Write the answers in your ANSWER BOOKLET.   ( 6 
points) 

 
 
1- Rami is not usually this  . I am unsure whether he got stuck in heavy traffic or not. 
Rami ………………………………………………………………………… 
2- Zaid has worked very hard. It is certainly that he has got good grades 
 Zaid ………………………………………………………………….. 
3- Faisal’s car lights were on all night. I 'm sure that he forgot to switch the lights off. 
Faisal  ………………………………………………………………………….. 
4- Sultan’s looking at the engine of his car. It's probably that his car broke down. 
Sultan's car ……………………………………………………………………. 
5-Tareq wants to be a teacher when he graduates. I know he is very interested in education. 
Tareq ……………………………………………………………………. 
6- Ali has just drunk two litres of water. I am sure that he was very thirsty. 
Ali ………………………………………………………….…………….. 
7- Sami bought an expensive car . I am sure he earns quite a lot of money . 
Sami ………………………………………………………………………….. 
8- They have black skin, I am sure that they came from somewhere hot like Africa. 
They………………………………………………………………………………… 
9- I am sure that they haven’t finished their lunch already - they only started eating five 
minutes ago. 
They ………………………………………………………………………………….…. 
 
 
10- Malek was reading a book last night; he never took it out of his room. I am almost sure 
that the book is somewhere in the room 
…………………………………………………………………………………… 
11- Salma has a very good English accent. I am unsure whether Salma has lived with an 
English family or not. 
 ………………………………………………………………………….. 
12- Marwan is almost sure that building bridges is not easy, they are complicated structure. 
………………………………………………………………………………….. 
 
Answers:- 1- might have gotten stuck in heavy traffic. 2- must have got good grades. 
3- must have forgotten to switch the lights off. 4- might have broken down. 5- must be very 
interested in education 6- must have been thirsty. 7- must earn a=quite a lot of money…… 8- must 
have come….. 9- can't have finished their lunch already. 
10- The book must be somewhere in the room. 11- Salma might have lived with an English family. 
14- Building bridges cant be easy, they are complicated structure. 
 
 
 

must         cant         might  

must  be       cant be         might have 
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B. Complete the following mini-dialogue using an expression that                                , and write 
the answer in your ANSWER BOOKLET.                                           (2 points) 
1. Complete the following mini-dialogue using an expression that presents argument 
Marwan:- Do you think companies should allow their employees to use work computers for 
their own purposes?   ھل تعتقد ان على الشركات ان تسمح لموظفیھا باستعمال حواسیب العمل لإغراضھم الخاصة؟- 
Sami :- The main argument against this idea is that the employees will wasteیضیعوا their  time. 
 
2. Complete the following mini-dialogue using an expression that express opinion 
Marwan:- In your opinion, how can migrants benefit the society in which they live? 

  برایك، كیف یمكن ان یكون المھاجرون مفیدین للمجتمع الذي تعیش فیھ؟
Sami:- I think the migrants can develop and improve many fields and jobs like industries and 
agricultures and constructions. 

  . اعتقد ان بامكانھم تطویر وتحسین عدة مجالات ووظائف مثل الصناعات والزارعة والانشاءات-
3. Complete the following mini-dialogue using an expression that express opinion. 
Marwan: In your opinion, how can't migrants benefit the society in which they live? 

  برایك، كیف یمكن ان یكون المھاجرون غیر مفیدین للمجتمع الذي تعیش فیھ؟
Sami :- I think the migrants will work in many jobs and works and this leads to unemployment 
between the native people in my country.  

  .اعتقد ان المھاجرین سیعملون في عدة وظائف واعمال وھذا یؤدي الى البطالة بین السكان الاصلیین في بلدي
 
4. Complete the following mini-dialogue using an expression that presents suggestion. 
Marwan:- -There are very few public places in your town where people can go to keep fit. 

  . ھنالك القلیل من الاماكن العامة في بلدتك بحیث یمكن للناس الذھاب للمحافظة على لیاقتھم-
Sami:- I suggest اقترح that the government should build and establish new parks and gardens in all 
areas. 
5. Complete the following mini-dialogue using an expression that presents suggestion. 
Marwan:- Very few tourists come to your town because they know nothing about it. 

  . فقط القلیل من السیاح یأتون الى بلدتك لانھم لایعرفون شیئا عنھا-
Sami:-  I suggest  اقترحthat we must make special website نيموقع الكترو  on internet to introduce لتعریف 
the historical and natural places to the tourists.  
 
 
6. Complete the following mini-dialogue using an expression that presents suggestion. 
Marwan :- In some parts of Africa, desert areas are becoming green again. What can be done to 
slow down the process of desertification and speed up this greening process? 

ماالذي یمكن فعلھ لتقلیل عملیة التصحر وتسریع . في بعض اجزاء افریقیا، الاراضي الصحراویة تتحول الى خضراء مرة اخرى -
  .عملیة التخضیر

Sami:- I think there are many ways to stop the desert and increase the plants such as building dams 
 fining ,زراعة الاشجار حول الاراضي الزراعیةplanting the trees around the agricultural areas ,بناء السدود
peopleتغریم الاشخاص who cut down trees or overgraze their animals.  
7. Complete the following mini-dialogue using an expression that presents opinion. 
Marwan:- How and why do you think human beings are dependent on plants? 

   حسب اعتقادك، كیف ولماذا یعتمد البشر على النباتات؟-
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Sami:- I think that human beings are dependent on plants for many purposes like food, 
medicineدواء, toolsادوات and structure (building)البناء.  
 
 
 
 
8. Complete the following mini-dialogue using an expression that presents opinion. 
Marwan: - What is a greenhouse? Explain why ‘greenhouse gases’ have been given this name. 

  قد سمیت بنفس الاسم؟" الغازات الدفیئة" ؟ فسر لماذا "البیت الزجاجي " ما ھو-
Sami :- In my opinion, greenhouse is a structure بناء for growingلزراعة vegetables and plants, and 
this greenhouse keeps  یحبس  the heat in itالحرارة. So the green house gases do the same thing by 
keeping the heats in the Earth.  
9. Complete the following mini-dialogue using an expression that presents opinion. 
Marwan:- What is the main purpose of sending people to prison: to punish them or to protect 
society? ھل لمعاقبتھم ام لحمایة المجتمع؟: اص الى السجنما الھدف الرئیسي من ارسال الاشخ  
Sami:- I think we send criminals to prison to protect the society from those criminals , if we don’t 
do that , these criminals will commit new crimes against the innocent people and there will be more 
chaos between people . 
10. Complete the following mini-dialogue using an expression that presents opinion.. 
Marwan:- Do you agree that without laws ‘there would be chaos’? How do you think people would 
behave if there were no laws? 

  ون ھنالك فوضى؟ كیف برایك سیتصرف الناس في حال عدم وجود قوانین؟ ھل توافق بانھ بدون القوانین سیك-
Sami- I totally agree with you, because without laws, there will be more crimes against people. 
Also, people will not feel safe because of the chaos.  
11- Complete the following mini-dialogue using an expression that expresses regret about 
inability. 
Marwan:  You can't go with us to The Dead Sea. 
Sami:  I wish I could go with you. 
12- Complete the following mini-dialogue using an expression that describe this photo.  
Marwan:  Where is the small tree located? 
Sami:  The small tree is in the middle of the picture. 

 
 
Question Number Five (15 points) 
B: EDITING: (4 points)  

1- proportion 2- population 3-emigrate 4-  England.  
 

1- During 2- starvation 3-  increase 4-  emigration 
 
B. GUIDED WRITING: (4 points)                                                      

What are the results of desertification? 
- destroy the soil. 
- produce dust.  

A probortion of the populetion may stay alive if they emegrate to any country, especially england.  

 during the next two years, 350,000 people died of stervation  and there was a huge 
increaze  in emgration  to America. 
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- lead to dangerous wildfires. 
There are many results of desertification such as destroying the soil and producing 
dust. Also, there are other results like leading to dangerous wildfires. 

 
Using public transport 

Arguments for reduce traffic jam, economic 
Arguments against consume time , inconvenient 

- There are many arguments for using public transport such as reducing traffic jam and 
it is economic. On the other hand, there are many arguments against using public 
transport like consuming time and it is inconvenient.  

The importance of recycling materials 
- stopping pollution 
- saving energy 
- producing electricity 

-Firstly, there are many advantages of recycling materials such as stopping pollution and saving 
energy. 
-On the other hand, there are other advantages of recycling materials like producing electricity. 

 
C. Free writing: (7 points)                                                                 

 In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the 
following: 

1- Car accidents happen everywhere and every time. Write a letter for your school 
magazine mentioning the causes of such accidents and suggesting possible solutions to 
reduce them. 
(Your name Nihad, your address P.O Box 1646, Amman, Jordan) 
 
2- Each one has a significant event that changed his / her life . Write about an event changed 
your life positively or negatively , how old were you , where were you , what happened , 
how did you feel , who was involved and what were the results of this change ?. 
 
3. Many young people look forward to immigrate to foreign countries. Write an essay about 
    the advantages and disadvantages of emigration.   
 
4. There are few public places in your town where people can go to keep fit. Write a letter to 
    a local newspaper making recommendation which might help to solve this problem.  
    (Your name is Wisam Ali. Your address is P.O Box 1646. Amman, Jordan ) 
 
5- There are so many important historical sites in Jordan. Choose one of these sites 
which you  have visited lately and write about it showing how we, as Jordanians, could 
play a main role  of promoting such sites to others. 
 
 
 

  توى الثالث قدیمورقة عمل للمس
Complete these conversations using the correct form of the verbs in brackets. Choose the present 
perfect simple or present perfect continuous. (Sometimes both forms may be possible.) 
a A You look very pale. Are you feeling all right? 
B I’m really tired. I …………….. (not sleep) very well recently. 
A Do you mean you …………….. (wake up) very early? 
B No, I …………….. (not sleep) at all for three nights. 
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b A …………….. (you speak) to Ibrahim recently? 
B No, I……………..  (not see) him for over a week. 
A Perhaps he……………..  (spend) all his time with his family. 
c A I……………..  (think) about taking up tennis. 
B So have I. ……………..  (you play) it before? 
A No, but I……………..  (watch) a lot of tennis on TV this summer. 
Answers:-  
a B haven’t been sleeping 
A have been waking up 
B haven’t slept 
b A Have you spoken 
B haven’t seen 
A has been spending 
c A I’ve been thinking 
B Have you played 
A I’ve watched / I’ve been watching 
 
There is a word missingكلمة مفقودة in each of these sentences. Rewrite the sentences, including the 
missing words.  
a I’m so busy I find it very hard to keep up the news. 
b There’s nowhere to park in the city centre. The car parks usually run out spaces by 8 o’clock in the 
morning. 
c They have been working very hard recently, so they’re really looking forward their holidays. 
d They live very close to the airport, and they’re finding it very difficult to put up the noise. 
e Everything was going very well until they came up an unexpected problem. 
Answers:-  
a (keep up) with /b (run out) of    /c (looking forward) to   /d (put up) with  /e (came up) against 
 
Choose the correct verb form to complete these sentences. (Sometimes both forms may be possible.) 
Sofia (1) arrived / has arrived in England from Poland seven years ago. Since then she (2) worked / has worked as a 
primary school teacher. She (3) went / has been back to Poland several times to see her family, but she (4) never 
wanted / has never wanted to stay there. Two years ago she (5) got married / has got married to another teacher at 
her school, and the couple (6) recently had / have recently had a baby. When Sofia (7) first arrived / has first 
arrived in Britain, she (8) didn’t imagine / hasn’t imagined she would settle here. For the first year she (9) suffered / 
has suffered from culture shock and (10) wanted / has wanted to go home, but she (11) quickly learned / has 
quickly learned the language and (12) made / has made new friends. In the seven years Sofia has been in England, 
she (13) became / has become so used to the way of life that she really feels at home there. 
Answers:-  
1 arrived 2 has worked 3 went / has been 4 never wanted / has never wanted 5 got married 6 have recently 
had/7 first arrived8 didn’t imagine 9 suffered 10 wanted 11 quickly learned 12 made  13 has become. 
 

I ……………….. (1) through town the other day, when suddenly I ……………….. (2) about my 
friend Tareq. I ……………….. (3) him for several weeks and I ……………….. (4) what he 
……………….. (5) .. I ……………….. (6) out my mobile phone, when somebody 
……………….. (7) into me. “Sorry,” I ……………….. (8) . The person who ……………….. (9) 
into me ……………….. (10) my friend Tareq! 
 
1 was walking  2 thought / wondered   3 hadn’t seen   4 wondered   5 was doing / had been 
doing  6 took   7 bumped   8 said  9 had bumped  10 was 

 
Choose the correct words in these sentences. 
  
b -Most of Africa has a very hot, dry climate / weather. 
c -Some plants grow well here even though the dust / soil is poor and it hardly ever rains. 
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d -Ali doesn’t want a permanent / temporary job – he wants a serious career as an engineer. 
e -We must do something about climate change to protect / survive our way of life. 
f -We thought the restaurant bill was too high. We were right – the waiter had overcharged / 
undercharged us. 
g- I’m not going to throw my mobile phone away. I’m going to send it to another country where it can 
be misused / reused. 

Ali Daqamseh  
   0772111116 - علي موفق الدقامسة-اعداد

On facebook 
 طلبة الاستاذ علي الدقامسة


